H & 0l & AHS B Ml A

S BADSYE
Ha: OIS JI8r2s

el BYuIUEHSE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
BYSHH 6,203,638 5,361,112 842,526
eIisd Jlgt2st 456,667 457,025 A358
B USHEH2E 456,667 457,025 A358
gdusdH=Y 15,600 20,000 A4,400
201 fer= 3| 3,200 4,000 A800
01 At 2|l 3,200 4,000 A800
cIMu=X& Sl
8,0002 x5 +80! 3,200
202 04l 9,000 12,000 23,000
01 2LHoIH 9,000 12,000 /3,000
S ImEN R eSS
20,0002 x5 30 3,000
o2 EH0HI 80,0002 x5 »15& 6,000
203 =4l 3,400 4,000 2600
03 A=A 2= 3,400 4,000 2600
cHUNF HRFH 850,000 *4= | 3,400
ANEE FAl2el 248,667 262,925 A14,258
101 @124H| 3,627 6.885 A3,258
M ORINZZ2NSE S 3,627 6,885 A3,258
cgZael, NdES B S(HA. S0cA2
) 161,808 x4 & +5 3,238
o4l 2= 3,238,000 *12% 389
201 fet=3| 161,040 173,040 212,000
01 At 22|l 89,900 91,900 22,000
oAl oM S A (20HA)
750,000 * 122 9,000
oAl ZHBY, HSI|s FA(HL)
4,000,000& 23] 8,000
oXI| QHA 22 8 (2H4)
800,000 * 122 9,600
CHNTHE FI| orEpalgd
200,000 * 122 2,400
o5Y)| rEARIEA (B L)
900,000 * 12 10,800
o= RUAIE AtEHA
6,500,000& 22 13,000
oZ30ll=2l2 SUMol AXEH
15,000,000 15,000
o&J|, JIAEH B4 10,000,000 10,000
oHALF(4H2L) 1,200,000 62 7,200
oS8T HA () 2,000,000& *22] 4,000
oDARM, XSIO HREY a8
300,000 «3CH 900
02 S5=2g4l 71,140 81,140 10,000
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DA HMDSME
33 sy Jletdet
Chel: BMWSHHSE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o=, BEF S A= A&
5,000,000& 52 25,000
o&II, JIH, A4l |2t
5,000,000 62 30,000
oduy)| S A=HI
1,400 *10,0002| E4 14,000
o&d eI A2
1,600& 2002 &4 320
oHSE HA(1HA) 16,0003 +70& 1,120
o4d, A= S Ealtl 700,000& 700
206 M=Hl 2,000 4,000 22,000
01 MHZH| 2,000 4,000 22,000
odF, EF S XM
500,000& 22 1,000
o&Jl, &Y, JIHE! 2l X
500,000 22 1,000
401 Al HIZ R 0HbI 82,000 79,000 3,000
01 AlZ8| 82,000 79,000 3,000
oS0lEAM2 st BxZA
10,000,000 10,000
od=, EF S NEE 2=
10,000,000 10,000
o&Jl, JIH AME S B
15,000,000 15,000
oEaissl2 4D JUNMEH
18,000,000 * 12l 18,000
o=Z30li=2l2 ot FIIHEEH
6,000,000& 12 6,000
SN (ML) HES AHHEY
3,000,000 3,000
oxds HE A M= S 32A2(HAH, =
Ol A2) 10,000,000& »23] 20,000
gdu=s gdat 64,000 69,100 25,100
201 er23| 24,000 24,100 A100
01 At2teltl 19,200 24,100 4,900
CBMIS D20y 2N U 2E7Y
500,000 %122 6,000
CHMDSEO|S FAAY
70,000 * 102 #22] 1,400
cHUNE E2E M 4,000,000 4,000
ocmMsLEs BY - HED 2%
5,000,000& 5,000
CNSYUREOS HALY
70,0003 20 #22 2,800
03 A2 I 4,800 0 4,800
cHJUNS 243t HA2E S
4,800,000 4,800
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2A:

TM DS M

33 sy Jletdet
el BYuIUEHSE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 40,000 45,000 25,000
ERIE=YOYETEES 40,000 45,000 5,000
oS4 WM D2 X|d
5,000, 00024 46H 4 30,000
o4 WML Sof2| N
1,000,000 #1000 2 10,000
del2oi =S AH 128,400 105,000 23,400
201 2= 8,000 9,000 21,000
01 At22telt] 8,000 9,000 A1,000
cHOSHDS I X SETY
25,0002 200 5,000
odPRoiu= AlstA 3,000,000& 3,000
301 EetE2 NS 120,400 96,000 24,400
4Bt 2as 120,400 96,000 24,400
CHSHLE LML
60, 000& *237H 2 +40==+23] 110,400
odPEoi T AH2SAHA AHI24
20,0002 #1074 A #255%23] 10,000
IESeEp R} 4,421,6% 3,137,033 1,284,623
wsI|2 X2 A 310,452 374,329 N63,877
SHEXNS 22ZA XA 76,966 137,780 /60,814
308 AHXIHMSO0IA 76,966 137,780 /60,814
08 WEJ|20UetEx 76,966 137,780 260,814
osEXNY AN FOEX WA
76,966,000 76,966
usSstn L= X 233,486 236,549 23,063
308 AXIMS0IA 233,486 236,549 23,063
10 A2 7 UFHISEH HIHES 233,486 236,549 A3,063
S i L
233,486,000 233,486
elliEd 29 4,111,204 2,762,704 1,348,500
dd&dsts 29 3,932,104 2,592,304 1,339,800
306 E= 3,932,104 2,592,304 1,339,800
01 £g= 3,932,104 2,592,304 1,339,800
oHHISE EM= 3,932,104,000& 3,932,104
ZE0sSstw Ysrxols N2 179,100 170,400 8,700
301 EtE NS 179,100 170,400 8,700
14 IIEt2 8= 179,100 170,400 8,700
oxENSs Yst=cts XA
179,100,000& 179,100
gdstisHA 2= 246,940 337,642 AQ0,702
gdistg =8 214,580 205,802 8,778
21MID1 4Ot 0| 205,680 196,002 9,678
201 2egh=3| 29,480 37,402 NT,922
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FA HYUSsHE
M mAstE 25
H°el: gdsis = (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AfR 22l 24,980 32,902 £T7,922
S21H2| HHOBIEI0l 2 E H
10,0002 %1,2005 12,000
S21MII1 Edotuol 29 12,980
=l NS 55,000 *6I1*243] 7,920
2ol U EUS YR 2= N
280& %6, 0000H 1,680
AN EATL 20,0002 2424522 960
2ol =38 AXSIC 7
250,000 x2H 500
-ANPBE S 28 79
20,0002 +x65+102 1,200
-= & 8,000 x3&»30! 720
02 S3=4gl 4,500 4,500 0
oYW U BB LER3
5003 %5502 %123 3,300
oLHtY 3 JtE gg =H
200&*1,500& *42] 1,200
202 04l 1,200 1,600 A400
01 2LHoIH 1,200 1,600 2400
S21AMII1 E-€otti0l e2 =&
20,0003 x2& »30! 1,200
307 @20l & 175,000 150,000 25,000
05 212+ =S 175,000 150,000 25,000
S21MI91 ZEO0HHID 2 (2212 Ha
) 175,000,000 175,000
dHiste 29 8,900 9,800 A900
201 Ler23 | 8,900 9,800 A900
01 At2telt] 8,900 9,800 2900
ocddlstd 24 500
—ulf 2 25,0003 20 500
ocddlstd A
700,000« 1H* 122 8,400
dgus 29 32,360 131,840 A99,480
g2 MEW= 32,360 131,840 299,480
201 2= 30,360 129,160 98,800
01 At2t2lt] 27,560 126,360 898,800
ocHEES MENE uli & E2= A 18,000
s Wi M 2,000&*3,000 6,000
-82 clEH MH
1,0002*35+2,000% 6,000
-HEus S28E MA(2H 8)
1,000& *x35+2,000H 6.000
cHEES HEuUF 24 3,560
-0 M 130,000& x 123 1,560
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2A: E

M BMSISTHH 2E
chol: Helns 2 (Hol: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ST 2% 405 19
20,0003 55203 2,000
cHEES HEUF A=Y
200,000 52| +6E 6,000
02 S3=2g4l 2,800 2,800 0
oHEEY HEuF 2L 2,800
-Hgd €5 300,000 42 1,200
-HSE €5 8003 *1,0007H 2:+23] 1,600
202 048l 2,000 2,680 2680
01 2L AH| 2,000 2,680 A680
cHEES HEus HRFA
20,0003 x28 50! 2,000
sl dE 401,115 547,738 A146,623
Zstiilzzi2 29 2 401,115 547,738 A146,623
sz 28 2 S9 J|= 401,115 505,738 104,623
101 @124H| 18,275 21,130 A2,855
04 JIZtN2 2N S+ 18,275 21,130 A2,855
SR HA(MNE L oY S) oI
78,8803 7 x253] 13,804
o23HBEB PO B o
150,000 »3&+8L 3,600
cAUEE = 17,404,000 5% 871
201 er23| 316,960 368,208 A51,248
01 AtR2t2|HI 49,620 54,868 N5,248
o2z 28 228 7Y
400,000 <95 3,600
C2RUAIX AHB2 (SO, OHHS)
443 2,0002 %502 4,400
o822 MH(3d, I3t8) 36,020
-HEXI (M 2002 *2,0000H* 152 6,000
-EAH((2E) 6,000 %5001 253 7,500
=t 55,0003 » 1404 2= x262] 20,020
“EEE 100, 000& *1JH #2528 2,500
oFslszl2 S2¢ Y
1,300,000 23] 2,600
oBZYRFI S
8,000 3 » 125! 3,000
02 S52g4l 13,340 13,340 0
ogt=EZ3t0l=22HE 2|
5,000,000& 1] 5,000
cRHAIE(SE, XY, 20) a3l
300,000& %12 300
oSHAlEd =Xl2 450,000 123 5,400
oSHUMHELAIAE AISE
220,000 122 2,640
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2A:

oA DS ME]

g 2slls A8
ol 23tisda 29 2 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 Ar=EHI 254,000 300,000 /46,000
oli(A)sHE 230z I8 3¢ 214,000
-z 30,000, 000& %53] 150,000
—aZHE 16,000, 000& *43] 64,000
odgtad 4,000,000& 102 40,000
202 04l 3,000 3,600 A600
01 2LHoIH 3,000 3,600 2600
o2dYR =M 20,0003 38 »502 3,000
206 M=l 25,200 31,400 26,200
01 MZH| 25,200 31,400 26,200
oZHE ARE FY
350, 0002 x185*42 25,200
301 22N = 22,680 32,400 N9, 720
14 JEt2a s 22,680 32,400 29,720
o230z 2 SA=E
45,0002 <32 THx2A| 222 425 22,680
405 AHaHE S 15,000 49,000 234,000
01 ML ESF SHI 15,000 49,000 A\34,000
oXYI| - 881018 WA & 7
7,500,000 *25 15,000
S3TAS & 2 28 567,702 731,413 A163,711
SATAE 2E 2l 384,539 534,319 149,780
CA7Y 2 2l 187,743 281,788 A9A4,045
101 @124H| 17,847 17,412 435
M ORIMZZ2NSE S 17,847 17,412 435
oFd TAdel 2RY
78,8803 x2&H*101& 15,934
o428 = 15,934,000 *12% 1,913
201 et 3| 72,3%6 85,776 13,380
01 AtR2te|Hl 58,296 67,276 28,980
odJ|lZtdE 7Y 25,0002 x105+ 122 3,000
Sb2A=E 4,800
-S2Al 20,0002 x105+ 122 2,400
NN 10,0002 205122 2,400
oRRIIE HSES 300,000 +52 1,500
oM NEEL S SESMH
1,700 *1,5000HK 2,550
oL NZ0ISH AtIZSHIZ
4,250,000& 4,250
o A2 HRFN IEH
8,000 x5 50! 2,000
okt B = 1,200& +6,0002 7,200
o=Me €, T2 WAL S
3,000,000 *23] 6,000
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FA BdUSHEH

Y ZTZCNT BE YL 29
ol SN 2 2 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
oltAMA™E MI| S 2stua FuE HE
5,000,000 *13] 5,000
SOt ZEA 2% FUISY
1,833,000 =123 21,9%
2 S=29| 14,100 18,500 24,400
o PHIEAMHIA OlIEZ 300,000& =123 3,600
oMz E3ldl 300,000 *30H 2~ 900
cEHRYUE gEs 082
500,000& 123 6,000
oSH MM 0I2&
300,000& =123 3,600
202 04d| 5,000 7,500 A2,500
01 =WOdbI 5,000 7,500 A2,500
oL NEHR FA 20,0003 x5 +50 5,000
405 XHeHE S| 92,500 169,100 AT76,600
01 ML =ZFSHI 5,000 66,600 261,600
oAt 2 S 5,000,000& 5,000
02 M-I 87,500 102,500 A 15,000
Sy ek 15,000 *4,5003 67,500
<30, OW, &8N, QLLE S
50,0002 x400& 20,000
A AIAEN 2g2tel 84,944 119,050 A34,106
201 Let2| 84,944 85,430 AN486
01 Ar22eltl 3,740 3,300 440
o0l E HIOIZ P2
77,000 204 1,540
o0|BIE MR (A S)
110,000& *20H 2,200
02 B22gH| 81,204 82,130 AN926
CRBUCHZ 22 S45lH 0|22
1,006,400& * 12& 12,077
o, S0IEME SHleld
600,330 23| &+ 123 14,408
oA ARY SAFH
61,6002 *33| &+ 122 2,218
o= HIOIXl SIZIOL0IEI MHIA OI2Z
550,000& 550
o3BT OIS0l MHIA 0122
66,0003 122 792
oMAEH|l XY 50,0003 x5 +63| 1,500
oZEEANA HERT & 23 |AES
40,000,000 *X% 3,600
CRBTAD HAAAE SN2
85,900, 0002 *8% 6,872
o MAAIAH X PC A2 3,423
“HHAAAE RS 17,8003+ 12& 1,414
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SH: BMDIHME
Y ZTZCNT BE YL 29
el SYEAS 2 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-HIERIPC FXI2=
5,400 +31CH =12 2,009
oL NZeIAIAE S+
72,898,200 *11% 8,019
o, S0ISN2 USSHAIAE SIE
132,600,000 *7% 9,282
oA TANSHAAYE FAE+
118,290,000 %7 . 2% 8,517
oz A2 SHOIX S22+
18,200,000 *15% 2,730
oBYS3 FAE 16,720,000 *15% 2,508
olPS (RETTJEA) RS 3,168
-=&X WH 155,000 * 16CH 2,480
-PS =AE+ 8,600,000 *8% 688
oL NFH II2A3 FXNEB(5128)
220,000 +7& 1,540
SYTAZ Sstus 2 80,900 99,800 18,900
201 er23| 5,100 6,000 A900
01 At2t2ltl 5,100 6,000 A900
odit, At S 2= MH
637,500 43 2,550
oz Y 23XE & Mz7¢
425,000 62| 2,550
301 22N 75,800 93,800 18,000
14 JIEt2 8= 75,800 93,800 18,000
oEstud A
50,0002 x2A| 2k* 122 x442 T 52,800
oR0Pl= SAud ZAE 18,000
-X <=0t I
50,0002 *2A| 2+ 100 A +22]«0F 18,000
o=ANS0tel 2At=E
50,0002 2 Al 2++5JH*102] 5,000
A2oA2 29 30,952 33,681 N2, 729
101 @124H| 11,132 10,861 27
MU ORINZENSES 11,132 10,861 27
SAIRZHH 22X EA22]) A2
78,8803 x2& »63! 9,939
cAHEEE 9,939,000 *12% 1,193
201 2= 1,220 1,220
01 At22t2lH] 1,220 1,220
oXN2EAMR X=Z B 7=
1,200 *3002 x20H A 720
SH2ENA MNRES 250,000 25 500
301 EtE2 N = 12,600 12,600
4Bt 23 12,600 12,600
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FA HYUSHE
Y ZTZCNT BE YL 29
el SYEAS 2 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oH2ENA 2L B BASY
50,0003 *2A| 2+x 128 x4 2F Fp20H 2 9,600
oL A2l AHIRA(4AIZH01A)
0,000 1 »150! 3,000
405 KHaHE SH 6,000 9,000 A3,000
D 6,000 9,000 23,000
oH2THB TAHPY
15,0002 x200 2 *20H 2= 6,000
SAEA2 2 2 124,935 132,840 AT7,905
A € 257 29 2 100,935 102,840 1,905
101 @124H| 16,091 11,476 4,615
MU IIRIMZENSES 16,091 11,476 4,615
SAIZHHl 22XHEHA) 212Y
9,860 *4A| 2H+151 5,95
o22X E&= 496,330 x1H 497
SAIZH 22IHE. 2 =AFHel) =Y
78,8803 x1H 101 7,967
cAUEE = 1,671
-AIZHR 227 IR Y
13,923,000 *12% 1,671
201 2= 53,844 52,664 1,180
01 At22t2lt] 30,384 32,264 21,880
oFIIMdE P2 10,0003 155+ 123 1,800
b= 12,0002 x75* 123 1,008
o NZRBE (AN, RFID B S)
250,000 45 1,000
ok HAES 85,000& %105 850
cHMITH A2F(SAD] ZEH &)
212,500 x45 850
oAtz B 2= 1,200& 2,000 2,400
o0t 2 28 BHIE4
1,833,000« 128 21,996
o A2 &R =N SEHI
8,0002 x1&+60! 480
2 52434l 23,460 20,400 3,060
o HEAS MRS
1,955,000& 123 23,460
202 048l 1,000 1,200 A200
01 2L A 1,000 1,200 A200
oM FF F& 20,0003 x 1 »50! 1,000
405 KHaHE SH 30,000 37,500 AT7,500
02 =A bl 30,000 30,000 0
oBtE A ¢ 15,0002 %2,000& 30,000
AN 2stud 2 24,000 30,000 26,000
301 LEtE NS 24,000 30,000 26,000
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2A:

TMDSHES

Y ZZCNT BE YL 29
ool AT 29 B2l (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 JIEF2 413 24,000 30,000 26,000
c23DA 2Y LAY
50,0003 *2Al 2+x202 £+ 122 24,000
S0I=M2 2 2 58,228 64,254 26,026
S0EAM2 EA & E257Y 29 2 40,228 40,254 AV
101 21A4H| 7,168 6,994 174
04 JIZtN2 2N S 2 7,168 6,994 174
S AR 22XHEA) oY
9,860 *4Al 2t 151 5,95
oZ2Z2it ElA=3 496,330 x1H 497
cAUEE = 715
-AIRM A 22XHEA) 1Ry
5,956,000 *12% 715
201 et 3| 17,060 17,060
01 At22t2l] 6,260 6.260
odJ|IZtdE 7Y 8,000 * 165122 1,536
oHZ A= 14,0003 85+ 122 1,344
SARES 7Y 200,000 42 800
ocHAES 7Y 300,000 32 900
otz B 7= 1,200& *1,0002 1,200
CTHE 92 Xz
8,0002 x1&+60 480
2 s5=34l 10,800 10,800 0
o=0l=AM2 HII23 900,000 * 12 10,800
202 O4H| 1,000 1,200 A200
01 2L A 1,000 1,200 A200
oM FF F& 20,0003 »1& %50 1,000
405 KHaHE SH] 15,000 15,000
02 =A bl 15,000 15,000
oBtE A 2¢ 15,0002 %1,000& 15,000
S0lzA2 Sstud 24 18,000 24,000 26,000
301 LEtE NS 18,000 24,000 26,000
14 IIEt2 83 18,000 24,000 26,000
o3l 28 A=Y
50,0003 *2A| 2+ 152 £Hx 122 18,000
HH2SIH(BYNFUH) 109,558 150,261 A\40,703
el 2| 23,092 22,706 386
el 24| 23,092 22,706 386
101 @124H| 23,092 22,706 386
01 &= 21,733 22,706 A973
oAe2eg
11,3192 x 162~ 10A1 2+ 123 21,733
02 JIEtME = 1,359 0 1,359
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SA: BRI
M HYSAFH(HWMHNSAHE)
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SEEEErS
11,3193« 1+ 10A| 2t 123 1,359
=234l 86,466 127,555 A41,089
J|1E23H| 86,466 127,555 A41,089
201 LBt2AY| 80,586 121,675 A41,089
01 A=R2teld| 62,520 92,620 A30,100
CAIRARYE ABE HY 5,680
-ANRES 20,0003 x205*43] 1,600
-SAEX 2L 25,0003 x78f A %128 2,100
-EH S dMAEE 250,000 *6CH 1,500
-E=J| 301 20,000 3«22t A% 12E 480
cAEE2Y HAEE 7Y 10,640
AR 1= 200,000& x23|+2H 800
=K 30,0002 x9E+123] 3,240
—St& X 50,0002 «6Et A 123 3,600
-JIEt @A EE 50,0003 *155*43] 3,000
oMeD| EEHM SE7Y
7003 *15001 =12 1,260
oSAI| 2l & EE WHl
400,000 +53| 2,000
oHHESE M 2003 *7,4000H 1,480
ogdE FY 10,0002 x 155 +23| 300
o&=J| A= 45,0003 *13CH+12& 7,020
oH|Ol Xtz 30,0002 *13CH*12& 4,680
oZJIEEI BX=
130,000 *1CH+ 122 1,560
oA 60,0002 x 15 »25 1,500
o ROIAHISA (4 2)
350,000& 4 2% 12F 16,800
oAl HHASED| ARtz
800,000 x1CH+12& 9,600
02 SE==29| 18,066 29,055 210,989
oat - ot MEZ 450,000& *12& 5,400
o XtEF =X 1,000,000 *1CH 1,000
oRFMH 1,740 1CH*400 £ 696
oRERIF 1,960 *250S 490
o Z3l=g R HY M A EE
40,0003 *13| &+ 128 480
o&HIRAHl S 5,000,000& »23| 10,000
203 RF=&Y| 5,880 5,880
02 R R FAIL| 1,080 1,080
o XRC| APIEZE AH| 40,0003 *274 1,080
M EAM2IHRFA| 4,800 4,800 0
=3092! 0|3t 400,000 122 4,800
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